### **KURUKSHETRA UNIVERSITY**

### **KURUKSHETRA**

Established by the state legislature Act-XII of 1956 ("A+" Grade,NAAC Accredited)



### **RESULT GAZETTEE**

**OF THE** 

BACHELOR OF COMMERCE SEM-03 EXAMINATION

**MAR-2024** 

**COPYRIGHT RESERVED** 

**PUBLISHED BY AUTHORITY** 

PRICE :RS.

(Including Postage)

#### **KURUKSHETRA UNIVERSITY KURUKSHETRA, HARYANA**

Result of each candidate is shown in the column of Result. Marks shown for Pass candidates and other Abbreviations are as below.

Abbreviation Stands For

'C' Compartment and to re-appear in the subject shown,till MAR- 2026 unless otherwise

Eligible/Stated.

'RLA' Result later for non-receipt of Awards form the Examiner or discrepancy therein.

'RL(UMC)' Result later for alleged use of Unfair Means.

RPFD Result provisional for want of dues mentioned against each.

'CC' Result is cancelled due to non-receipt of lower exam result/documents/s.

'RP' Result provisional for settlement of Improvment of Marks / Division.

'RPR'
'PID'
Result later due to Discrepancy in marks or any other dispute.

'RLD' Result later due to Discrepancy in marks or any o'
'ML' Marks later due to DIVISION.

Other Contents.

1. List of Candidates.

2. Pass percent.

3. Merit list.

#### **IMPORTANT NOTES**

- THIS RESULT GAZETTE MUST BE READ ALONGWITH "ADDENDA AND CORRIGEND. SUPPLEMENTARY LIST/S
  AND THE NOTIFICATION/S IN PARTIAL SUPERSESSION OF THE RESULT DECLARED IN THE GAZETTE, IF ANY.
- 2. College candidates will receive their Detailed-Marks-Cards (DMC) through the Principal of their Institutions. In case of non-receipt candidates should write through Principal not direct.
- 3. All private candidates will receive the DMC within ten days from the date of declaration of the result. If any candidate does not receive the same within fortnight of the declaration of the result or any result remains 'RL' the candidate should write to Asst/dy. Registrar Tell. No. 238582 and EPABX- 2461.
- 4. No Application for original Detailed-Marks-Card/Certificates will be entertained after a period of three months from the date of declaration of result.
- 5. All enquiries regarding result should be addressed to Dy/Asst. Registrar (Exam-I) KU Kurukshetra.
- 6. Re-evaluation of Answer-book(s) in Theory paper(s) is permissible within 20 days of the date of publication of result or 15 days of dispatch of DMC by the University, whichever is later, on submission of Application form which can be had from the Manager, Printing and Publications KURUKSHETRA UNIVERSITY, KURUKSHETRA on payment of Rs. 10/- at the counter or by remitting Rs. 30/-, if required by Regd. Post. It must be accompanied by Original DMC and Re-evaluation fee of Rs. 300/- per paper. The application should be addressed to Asst. Registrar (Re-evaluation) Kurukshetra University, Kurukshetra 136119, Telephone No. 2455 (University EPABX Exchange).
- 7. Examination Admission form can be had from the registered book-sellers of all the towns on the payments of Rs. 10/- per form or from the Manager, Printing and Publications Kurukshetra University, Kurukshetra 136119 on remittance of Rs. 35/- (including Postage) per admission form.
- 8. University shall not be responsible for delay or misplacement of DMC's sent through UPC / Registered Post.
- 9. Only latest Examination Admission form which costs Rs. 10/- will be accepted, otherwise Fee & late fees will be charged.
- 10. Late fees will not be charged, if the Admission Form is submitted within 25 days from the date of declaration of result or within 15 days from date of dispatch of DMC whichever is later.

Date: 28-02-205

Roll no.

Regn No.

Name

## KURUKSHETRA UNIVERSITY KURUKSHETRA , HARYANA

Result

RESULT GAZZETE OF BACHELOR OF COMMERCE SEM-03 EXAM - MAR- 2024

BRANCH 42 (CBCS-CDOE)

Father's name

	5501	CENTRE FOR DISTANCE & ONI	LINE EDUCATION KURUKSH	HETRA	
0022255001	22-DEO-101	ABUBAKAR AHMAD	0	ABS	
0022255002	22-DEO-102	ABDULMAJID MURTALA JAFAR	. 0	ABS	
0022255003	22-DEO-103	AMINUAUWA LINUWA	0	ABS	
0022255004	22-DEO-104	AMINU ABDULLAHI	0	ABS	
0022255005	22-DEO-105	AUWAL MUHAMMAD	0	ABS	
0022255006	22-DEO-106	ZAHARADDEEN UMAR	0	ABS	
0022255007	22-DEO-107	IBRAHIM AHMAD	TIJJANI AHMAD	ABS	
0022255008	22-DEO-108	HABUMUGISHA HERBERT	SEBUHINJA DAVID	0539/0725 SGPA	8.45
0022255009	22-DEO-109	ALI YAHAYA	0	ABS	
0022255010	22-DEO-110	HEMANT HULKORY	0	ABS	
0022255011	22-DEO-111	SALISU AUWAL	0	ABS	
0022255012	22-DEO-112	STEVE KAIMA	0	0574/0725 SGPA	9.00
0022255013	22-DEO-113	WADOK BENET LUKAJO	0	ABS	
0022255014	22-DEO-114	ABUBAKAR IBRAHIM	0	ABS	
0022255015	22-DEO-115	MUSA ALI	0	ABS	
0022255016	22-DEO-116	YOHANE DANFORD	0	ABS	
0023155001	23-DEO-51	NAVANPREET KAUR	GURDYAL SINGH	0597/0725 SGPA	9.17
0023155002	23-DEO-52	RAJAT S	BALBIR SINGH	0441/0725 SGPA	7.03
0023155003	23-DEO-53	PULKIT DIWAN	SUNIL DIWAN	0626/0725 SGPA	9.86
0023155004	23-DEO-54	ARMAAN VIRK	BALHAR SINGH VIRK	0497/0725 SGPA	8.00
0023155005	23-DEO-55	MANISH SHARMA	ANIL SHARMA	0440/0725 SGPA	6.93
0023155006	23-DEO-56	ASHISH KAPOOR	PRAVEEN KAPOOR	ABS	
0023155007	23-DEO-57	GURLAL SINGH	MAHAL SINGH	ABS	
0023155008	23-DEO-58	JAYANT JAYANT	SANJEEV SONI	ABS	
0023155009	23-DEO-59	KIRTI KUMAR	NARESH KUMAR	ABS	

KURUKSHETRA UNIV

Dr.ANKESHWAR PRAKASH CONTROLLER OF EXAMS

DMC No. 000001

Regn. No.

Roll No. 22255008

22-DEO-108

### RESULT-cum-DETAILED MARKS CARD BACHELOR OF COMMERCE SEM-03 EXAM: MAR-2024

(CBCS-CDOE)

Name : HABUMUGISHA HERBERT

: SEBUHINJA DAVID Father's Name : NYIRABAKUNZI FLORA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-COM-301 CORPORATE	44 27	40AG	100	Α	8	04.0	32.0
	ACCOUNTING-I							
2	B23-COM-302 INCOME TAX LAW-I	45 16	40AG	100	B+	7	04.0	28.0
3	B23-COM-303 BANKING AND INSURANCE	54 30	40AG	100	A+	9	04.0	36.0
4	B23-COM-304 BUSINESS ECONOMICS	48 29	40AG	100	A+	9	04.0	36.0
5	B23-BCH-303 BIOCHEMISTRY OF LIFESTYLE DISEASES	35 23	30AG	075	A+	9	03.0	27.0
6	B23-SEC-310 COMMUNICATION IN PROFESSIONAL LIFE	36 20	30AG	075	A+	9	03.0	27.0
7	B23-AEC-311 ENGLISH LANGUAGE & COMMUNICATION (L-3)	26 11	20AG	050	А	8	02.0	16.0
8	B23-COM-104 BUSINESS MATHEMATICS-I	23 11	20AG	050	А	8	02.0	16.0
9	B23-BCH-104 BIOCHEMICAL INSIGHTS INTO THE HUMAN BODY	39 22	30AG	075	A+	9	03.0	27.0
	TOTAL	0539		0725			29.0	245.0
	GRAND TOTAL	0530		0725				
	GRAND TOTAL	0539		0725		<u> </u>		

RESULT: PASSED AND HAS OBTAINED: SGPA 8.45

> DATED: FEB 28,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

DMC No. 000002 Roll No. 22255012

Regn. No. 22-DEO-112

## RESULT-cum-DETAILED MARKS CARD

BACHELOR OF COMMERCE SEM-03 EXAM: MAR- 2024 (CBCS-CDOE)

Name : STEVE KAIMA

Father's Name : 0 Mother's Name : 0

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-COM-301 CORPORATE ACCOUNTING-I	51 19	40AG	100	А	8	04.0	32.0
2	B23-COM-302 INCOME TAX LAW-I	48 23	40AG	100	А	8	04.0	32.0
3	B23-COM-303 BANKING AND INSURANCE	58 29	40AG	100	0	10	04.0	40.0
4	B23-COM-304 BUSINESS ECONOMICS	52 27	40AG	100	A+	9	04.0	36.0
5	B23-BCH-303 BIOCHEMISTRY OF LIFESTYLE DISEASES	39 24	30AG	075	A+	9	03.0	27.0
6	B23-SEC-310 COMMUNICATION IN PROFESSIONAL LIFE	42 25	30AG	075	0	10	03.0	30.0
7	B23-AEC-311 ENGLISH LANGUAGE & COMMUNICATION (L-3)	26 13	20AG	050	A+	9	02.0	18.0
8	B23-COM-104 BUSINESS MATHEMATICS-I	22 12	20AG	050	А	8	02.0	16.0
9	B23-BCH-104 BIOCHEMICAL INSIGHTS INTO THE HUMAN BODY	42 22	30AG	075	0	10	03.0	30.0
	TOTAL	0574		0725			29.0	261.0
	GRAND TOTAL	0574		0725				

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

(Clerk) (Assistant)

Kanen

**CONTROLLER OF EXAMINATIONS** 

Data of issue \_\_\_\_\_

DMC No. 000003 Roll No. 23155001

Regn. No. 23-DEO-51

## RESULT-cum-DETAILED MARKS CARD BACHELOR OF COMMERCE SEM-03 EXAM: MAR- 2024

(CBCS-CDOE)

Name : NAVANPREET KAUR
Father's Name : GURDYAL SINGH
Mother's Name : HARJINDER KAUR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-COM-301 CORPORATE	46 29	40AG	100	A+	9	04.0	36.0
	ACCOUNTING-I							
2	B23-COM-302 INCOME TAX LAW-I	41 27	40AG	100	Α	8	04.0	32.0
3	B23-COM-303 BANKING AND INSURANCE	54 30	40AG	100	A+	9	04.0	36.0
4	B23-COM-304 BUSINESS ECONOMICS	55 29	40AG	100	A+	9	04.0	36.0
5	B23-BCH-303 BIOCHEMISTRY OF LIFESTYLE DISEASES	45 25	30AG	075	0	10	03.0	30.0
6	B23-SEC-310 COMMUNICATION IN PROFESSIONAL LIFE	41 24	30AG	075	0	10	03.0	30.0
7	B23-AEC-311 ENGLISH LANGUAGE & COMMUNICATION (L-3)	29 13	20AG	050	A+	9	02.0	18.0
8	B23-COM-104 BUSINESS MATHEMATICS-I	25 14	20AG	050	A+	9	02.0	18.0
9	B23-BCH-104 BIOCHEMICAL INSIGHTS INTO THE HUMAN BODY	46 24	30AG	075	0	10	03.0	30.0
	TOTAL	0597		0725			29.0	266.0
	GRAND TOTAL	0597		0725				

RESULT: PASSED AND HAS OBTAINED: SGPA 9.17

			(Clerk)		(Assistant)	
Checked by	1.			_ 2		
KURUKSHET	ERA					
DATED:	FEB 28,2	2025				

Data of issue



DMC No. 000004 Roll No. 23155002

23-DEO-52 Regn. No.

## RESULT-cum-DETAILED MARKS CARD BACHELOR OF COMMERCE SEM-03 EXAM: MAR-2024

(CBCS-CDOE)

Name : RAJAT S

: BALBIR SINGH Father's Name : SANTOSH DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-COM-301 CORPORATE	36	21	40AG	100	B+	7	04.0	28.0
	ACCOUNTING-I								
2	B23-COM-302 INCOME TAX LAW-I	40	21	40AG	100	B+	7	04.0	28.0
3	B23-COM-303 BANKING AND INSURANCE	43	24	40AG	100	A	8	04.0	32.0
4	B23-COM-304 BUSINESS ECONOMICS	52	19	40AG	100	А	8	04.0	32.0
5	B23-BCH-303 BIOCHEMISTRY OF LIFESTYLE DISEASES	31	16	30AG	075	B+	7	03.0	21.0
6	B23-SEC-310 COMMUNICATION IN PROFESSIONAL LIFE	33	18	30AG	075	A	8	03.0	24.0
7	B23-AEC-311 ENGLISH LANGUAGE & COMMUNICATION (L-3)	23	11	20AG	050	A	8	02.0	16.0
8	B23-COM-104 BUSINESS MATHEMATICS-I	20	AB *	20AG	050	Р	4	02.0	8.0
9	B23-BCH-104 BIOCHEMICAL INSIGHTS INTO THE HUMAN BODY	33	AB	30AG	075	С	5	03.0	15.0
	TOTAL		0441		0725			29.0	204.0
	GRAND TOTAL		0441		0725				

RESULT: PASSED AND HAS OBTAINED: SGPA 7.03

> DATED: FEB 28,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

DMC No. 000005 Roll No. 2315500

Roll No. 23155003 Regn. No. 23-DEO-53

## RESULT-cum-DETAILED MARKS CARD

# BACHELOR OF COMMERCE SEM-03 EXAM: MAR- 2024 (CBCS-CDOE)

Name : PULKIT DIWAN
Father's Name : SUNIL DIWAN
Mother's Name : NEERU DIWAN

Institute . CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-COM-301 CORPORATE	57 29	40AG	100	0	10	04.0	40.0
	ACCOUNTING-I							
2	B23-COM-302 INCOME TAX LAW-I	51 24	40AG	100	A+	9	04.0	36.0
3	B23-COM-303 BANKING AND INSURANCE	59 29	40AG	100	0	10	04.0	40.0
4	B23-COM-304 BUSINESS ECONOMICS	57 29	40AG	100	0	10	04.0	40.0
5	B23-BCH-303 BIOCHEMISTRY OF LIFESTYLE DISEASES	46 23	30AG	075	0	10	03.0	30.0
6	B23-SEC-310 COMMUNICATION IN PROFESSIONAL LIFE	42 25	30AG	075	О	10	03.0	30.0
7	B23-AEC-311 ENGLISH LANGUAGE & COMMUNICATION (L-3)	29 14	20AG	050	0	10	02.0	20.0
8	B23-COM-104 BUSINESS MATHEMATICS-I	32 14	20AG	050	0	10	02.0	20.0
9	B23-BCH-104 BIOCHEMICAL INSIGHTS INTO THE HUMAN BODY	42 24	30AG	075	0	10	03.0	30.0
	TOTAL	0626		0725			29.0	286.0
	GRAND TOTAL	0626		0725				

RESULT: PASSED AND HAS OBTAINED: SGPA 9.86

DATED: FEB 28,2025

KURUKSHETERA

Checked by 1. \_\_\_\_\_\_\_ 2. \_\_\_\_\_\_
(Clerk) (Assistant)

Data of issue



DMC No. 000006 Roll No.

23155004 23-DEO-54 Regn. No.

## RESULT-cum-DETAILED MARKS CARD

### BACHELOR OF COMMERCE SEM-03 EXAM: MAR-2024 (CBCS-CDOE)

Name : ARMAAN VIRK

: BALHAR SINGH VIRK Father's Name

: NEELAM Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-COM-301 CORPORATE	43 23	40AG	100	Α	8	04.0	32.0
	ACCOUNTING-I							
2	B23-COM-302 INCOME TAX LAW-I	40 19	40AG	100	B+	7	04.0	28.0
3	B23-COM-303 BANKING AND INSURANCE	51 27	40AG	100	A+	9	04.0	36.0
4	B23-COM-304 BUSINESS ECONOMICS	52 25	40AG	100	A+	9	04.0	36.0
5	B23-BCH-303 BIOCHEMISTRY OF LIFESTYLE DISEASES	32 21	30AG	075	А	8	03.0	24.0
6	B23-SEC-310 COMMUNICATION IN PROFESSIONAL LIFE	31 20	30AG	075	A	8	03.0	24.0
7	B23-AEC-311 ENGLISH LANGUAGE & COMMUNICATION (L-3)	22 8	20AG	050	B+	7	02.0	14.0
8	B23-COM-104 BUSINESS MATHEMATICS-I	20 9	20AG	050	B+	7	02.0	14.0
9	B23-BCH-104 BIOCHEMICAL INSIGHTS INTO THE HUMAN BODY	34 20	30AG	075	A	8	03.0	24.0
	TOTAL	0497		0725			29.0	232.0
	GRAND TOTAL	0497		0725				

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

> DATED: FEB 28,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

DMC No. 000007 Roll No. 23155005

Regn. No. 23-DEO-55

## RESULT-cum-DETAILED MARKS CARD

# BACHELOR OF COMMERCE SEM-03 EXAM: MAR- 2024 (CBCS-CDOE)

Name : MANISH SHARMA
Father's Name : ANIL SHARMA
Mother's Name : PREM LATA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-COM-301 CORPORATE	29 19	40AG	100	С	5	04.0	20.0
	ACCOUNTING-I							
2	B23-COM-302 INCOME TAX LAW-I	37 17	40AG	100	В	6	04.0	24.0
3	B23-COM-303 BANKING AND INSURANCE	51 23	40AG	100	A	8	04.0	32.0
4	B23-COM-304 BUSINESS ECONOMICS	40 20	40AG	100	B+	7	04.0	28.0
5	B23-BCH-303 BIOCHEMISTRY OF LIFESTYLE DISEASES	33 17	30AG	075	А	8	03.0	24.0
6	B23-SEC-310 COMMUNICATION IN PROFESSIONAL LIFE	32 18	30AG	075	A	8	03.0	24.0
7	B23-AEC-311 ENGLISH LANGUAGE & COMMUNICATION (L-3)	19 7	20AG	050	В	6	02.0	12.0
8	B23-COM-104 BUSINESS MATHEMATICS-I	13 9	20AG	050	С	5	02.0	10.0
9	B23-BCH-104 BIOCHEMICAL INSIGHTS INTO THE HUMAN BODY	39 17	30AG	075	A+	9	03.0	27.0
	TOTAL	0440		0725			29.0	201.0
	GRAND TOTAL	0440		0725				

RESULT: PASSED AND HAS OBTAINED: SGPA 6.93

DATED: FEB 28,2025

KURUKSHETERA

Checked by 1. \_\_\_\_\_\_ 2. \_\_\_\_\_ (Clerk) (Assistant)

Banan

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_